FEI5ERHEFEART A KE ¥ EC £k R ZF 3E—45 ERFE=IS
= S BEAEE 2-3 B5FEE A BT 4-1 FIFH
B2iE = M| V&Y /A B3 Bl AL
D1 6-1 D1 2-6
== BE E: {2 RE ==3]} gkl BH S
=3} gl =i fz= == BE =P NI S
D2 0-6 D2 6-0
=H UhY #E kthF =H UhY E&8I P13
S1 & =g 0-6 =80 e S1 25 e 6-3 ® =5
S2 tEH B3l 4-6 EHK HE s2 & =g 6-3 EiR Bl
S3 I=h7)] KA 6-2 2J1 B S3 B P 6-3 =N (EE
= S TIEHR 1-4 FEETEE A
B VA #H V&Y
D1 6-4 D1
BH 43 M| R
==Y IS =i b=
D2 0-6 D2
E&8 H HE KthEF
S1 ® = 4-6 (=8 ol S1
S2 2R S0 0-6 =W HE S2
S3 FAR (ZE: S 3-6 2 ==Ei S3
2R A 24
D1 D1
D2 D2
S1 S1
s2 S2
S3 S3
EFEERFE BAE FIEER fE 5 FEE % =] EER VN mer—nx| B
EEZE 4
iy 4-1 2-3 1 1 2
FIHEE 1-4 1-4 0 2 3
fEEFEE 3-2 41 2 0 1

CEESY—LEX =W{7T—L + £5—LH






